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Pass the bow on the side of the bridge, next to the first string. 
NOT on the on top of the bridge!
The bow should be parallel to the direction of the strings.
The resulting sound should be a very high-pitched and soft sound.
Improvise around this sound and dynamic range.
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Gradually (really slowly), after exploring the initial sonority, 
position the bow toward the top of the bridge, just above the 
bridge, without a pitch. At this point also mute the strings with 
the left hand and prepare for the next action.
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with muted strings and the bow over the bridge, 
improvise gestures that alternate between the strings
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